6 | 2 | 4 d? 3 | 2 | 1

_ PARTS LIST
R B 340.50 mm [13,406 in] N ITEM QTY PART NUMBER DESCRIPTION
Rear | 330.00 mm [12,992 in] | 1 1 |M56U2004 Rear Panel
_ - " = 2 1 M5605004 Bezel
f _ > 3 1 M56U1054 Top Cover
o ! o 4 4 M3 x 8 mm CSK Screw  |Base Panel Screws
2 S, 5 6 M3 x 8 mm Pan Screw |Rear Panel Screws
£ E 6 4 M4 x 16 mm Pan Screw |Bezel Screws
£ o 7 1 |M56U1003 Base Panel
N ! g Foot hole detail:
& : h 295.00 mm [11,614 in] 2 holes @ 3,30 mm
280.40 mm [11,039 in] = [305313 in] & 1 hole @
M4 earth stud 254.00 mm [10,000 in] 254.00 mm [10,00 in] o /80 mm [0.15 in]
| g 10.00 mm [0,394 in]
Pase N ° °° ({\pcs ¢ 4) les (x6 TTE <
° ° mtg Holes (x N —
= oo PCB mtg Holes (x6) ° \ g '!-I (x6) 8_ £ = O O §
o | = 8 S
< | Nl S B p
S @ Suggested max o o £
| .
= PCB profile E| E O—1—8
S /Earth point i 3 S ot
) | S =
R s b | Nl R
. | | :
0O o (-] .
[ ] / Side
2 5 .
Front 351.62 mm [13,843 in] b 259.99 mm [10,236 in]
. < 242.17 mm [9,534 in] ( : )
( : ) . 12,12 2 < 4
308.00 mm [ d 6 In] :?:" @ Inside face of front panel to inside face
—_ A — — of rear —
'c _'I Q £ £
N X I = ~ JE:,, <
A = T2t <
E’ | = s 2 S
c I o, E|5S =
! m o|& o
& = N N
5 = < S
8 A— £ = A S
319.50 mm [12,578 in] Panel Width S M4 earth stud ]
. ! S FIRST ANGLE PROJECTION
NOteS' — Designed by Description Date Scale
' L Clark Unimet 4 03/12/2012 1:3.5
1) Case is fabricated from 1.5 mm aluminium sheet with die cast & extrusion bezels. -
2) Case is powder coat painted fine texture with RAL 7040 bezels and RAL 7035 panels. I:/SIEIF%A‘WS; gyegkgtﬁgﬁégeham MET www.metcase.com
——— - —— - - - - — - - hire, UK. PO Fart tumper Issue Shee
B B e e oo o (01409 53650 Emt: metcoseqancou | M5635205 > | 171

6 I S I 4 4& 3 I I 1




